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<quiz>
<l-- question: 1 -->
<question type="stack"s
<namez
<text-folRl1</text>
</name=
<questiontext format="html">
<text><p>ROEMERDIE N, </p><p>HBEHFIRIHB\(_0\)DEREFIHS, BIcE
o TEREI\(W\)TEINTNSEE, FAYHFMC R e </p><p> ZOXEQIREIL(\(F_0\))
100Hz, FE(V) 330m, BICEPIFES(\(v\))E3mEL 38 OIRIMBC G 210E TR
AL, </p><p>BHtaIREhEAR TN \(f_1\)=[[input:ans1]] [[validation:ans1]]
[[feedback:A1]] </p><p>EHSORHICLHRIEER I \(f_2\)=[[input:ans2]]
[[validation:ans2]][[feedback:A2]] </p><p>>h4&k J5L [[input:ans3]]
[[validation:ans3]][[feedback:A3]] </p><p>30IR#HEIL . [[input:ans4]]
[[validation:ans4]][[feedback:A4]] </p></text>
</questiontext>
<generalfeedback format="html">
<text/=
</generalfeedback>
<defaultgrade=1.0000000</defaultgrade >
<penalty>0.1000000 </penalty>
<hidden>0</hidden>
<questionvariables>
<text=A:f_0*V/(V-v);B:A*{V+v)/V;C:ratsimp(B-f_0);D:2*3*100/(330-3); </text>
</questionvariables>
<specificfeedback format="html"=
<text/>
</specificfeedback>
<questionnote:
<text/>

</questionnote>
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anput> <prt>

<name>ansl</name> <name>Al</name>
<typesalgebraic</type> <value>1.0000000</value>
<tans>A</tans> <autosimplify >1 </autosimplify>

<boxsize> 15 </boxsize> <feedbackvariables>

estrictsyntax>1</strictsyntaxs <text/>
<insertstars>1</insertstars> </feedbackvariables>
<node>

<syntaxhint/>

<syntaxattribute/> <name>0</name>

forbidwords > ratsimp ds:
<forbidfloat>1</forbidfloat>
<requirelowestterms>1</requirelowestterms>
<checkanswertype>0</checkanswertype>
emustverify>1 </mustverify>
<showvalidation>1</showvalidation>
<options/>

<finput>

<sans>ansl</sans>
<tans>A</tans>
<testoptions/>
<quiet>0</quiet>

<truescore>1.0000000</truescore=
<truepenalty/>
truenextnode >-1</truenextnode>

<truefeedback format="html">
<text/>
</truefeedback>

<falsepenalty/>
<falsenextnode>-1</falsenextnode>

<falsefeedback format="html">
<text/>
</falsefeedback>
</node>

</prt>

<answertest>AlgEquiv</answertest>

<truescoremode >=</truescoremode >

<trueanswernote >A1-1-T</trueanswernot

<falsescoremode>= </falsescoremode >

<falsescore>0.0000000</falsescore>

<falseanswernote >A1-1-F</falseanswernd
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<forbidwords> ratsimp </forbidwords=
<forbidfloat>1</forbidfloat=
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